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RealO0l Answers for No.9594

Ansl=[a=-2,b=-2,c=-4]

dI=[p(x)+q(x)=3x"+2x+10] 2=[p(x)—q(x)=—x—2x]
Ans2 = 3=[q(x)—p(x)=x"+2x] 4=[mp(x)—nq(x)=—4x"—6x—5]
S=p(x)q(x)=2x"+2x° + 157 +10x+25]  .6=[[p(x)’=x"+10x"+25]

Ans3=[p(x)q(x)=x"+2x"—-8x =16 x" + 4 x + 8]
Ansd=[a+b=-6,ab=-16], , AnsS=[a=4,b=6,ab=24]
Ans6=[P(x)=x"+4x —7x =23 x-2]
_.IZ[Q(X)=4x3+x2—3} .2:[ Qx)=4x-+1 }
R(x)=-4x R(x)=-3x"-4x
s — .3:[ Q(x)=x J .4:[Q(x):x3+8x2+24x+69}

R(x)=-3x- R(x) =211
5_[Q(x):3x3+6x} 6_[Q(x):x3+2}
L7 LR(x)=12x+5 7L R(x)=-4 |
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Real0l Answers for No.9608

Ansl =[a=2,b=0,c=-4]

= [p(x)+q(x)=5x2—x+6] 2=[p(x)—q(x)=-3 x2+x+4]
Ans2 = 3=[q(x)-p(x)=3x"—x—4] 4=[mp(x)-nq(x)=—11x>+4x+21]
S=[px)qx)=4x"—xX+21x* =5x+5] 6=[[p(x)P=x"+10x>+25]

Ans3=[p(x)q(x)=x"—4x"' —6x =33 X+ 6 x+ 18]
Ansd=[a+b=-8,ab=-9], , AnsS5=[a=5,b=6,ab=30]
Ans6=[P(x)=x"—7x —6x"+44x—7]

_1_[Q(x)=3x4—x3+2x2+2} 2_[Q(x):3x2—x+2} |
T R(x)=0 o R(x)=2x
_ _ Q(x)=x _ Q(x):x3+x2+x—2}
Ans7 = '3_[R(x)=—3X—J '4_|: R(x)=7
5_[Q(X)=2x3—2)1 6_[Q(X)=x3+7}
L L R(x)=2x-3 7L R(x)=16 |
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Real0l Answers for No.9646

Ansl =[a=-1,b=-3,c=13]

.1=[p(x)+q(x)=3x2+2x—7] .2=[p(x)—q(x)=—x2—2x+3]
Ans2 = 3=[q(x)—p(x)=x*+2x-3] 4=[mp(x)-nq(x)=—6x"—10x+17]
S=[p(x)q(x)=2x"+2x = 9%’ —4x+10] 6=[[p(x)=x"—4x" +4]

Ans3=[p(x)q(x)=x+4xX —6x" = 16X’ +12x* + 16 x — 8]
Ans4d=[a+b=13,ab=36], , AnsS=[a=5,b=3,ab=15]
Ans6=[P(x)=x'+4x -5x"=15x+7]

]:|:Q(x):2x4_4x3+2x2_3x—3} 2:|:Q(x):2x2—4x+2:|
| R(x)=2 T R(x)=-3x"-3x+2
AnsT = .3:[ Q(x)=x } '4:[Q(x):x3+7x2+23x+66}
R(x)=5x-1 R(x) =201
5:[Q(x)=3x3+9x} 6:[Q(X)=x3+8}
L R(x)=27x-5 ’ R(x) =28 |
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Real0l Answers for No.9649

Ansl =[a=0,b=3,c=2]

.1=[p(x)+q(x)=5x2+4x— 1] .2=[p(x)—q(x)=—3x2—4x—7]
Ans2 = .3:[q(x)—p(x):3x2+4x+7] .4:[mp(x)—nq(x):—7x2— 12x—-29]
S=[p(x)q(x)=4x"+4x 1357 - 16x - 12] 6=[[p(x)]=x"-8x"+16]

Ans3=[p(x)q(x)=x"+2xX +6x —6x - 14x"—40x - 12]
Ans4d =[a+b=4,ab=-32], , AnsS=[a=-6,b=4,ab=-24]
Ans6=[P(x)=x"-3x +6x" - 15x—1]
_I:[Q(x):4x3+x2—4} 2:[ Qx)=4x*+x } ]
‘ R(x)=-2x-1 T [R(x)=—4x"-2x-1
s — .3:[ Q(x)=x } _4:[Q(x):x3+5x2+14x+25}

R(x)=-7x+5 R(x) =46
5_[Q(x)=2x3—2x} 6_[Q(x)=x3+5}
. 7 L R(x)=2x-5 7L R(x)=10 |
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Real0l Answers for No.9669

Ansl =[a=0,b=-1,c=0]

.1=[p(x)+q(x)=3x2+5x+5] .2=[p(x)—q(x)=—x2—5x+ 1]
Ans2 = 3=[q(x)-p(x)=x"+5x—1] 4=[mp(x)-ng(x)=x"—10x+11]
S=[px)q(x)=2x"+5+8x"+15x+ 6] 6=[[p(x)P=x"+6x"+9]
Ans3=[p(x)q(x)=x—4x*+11x° - 17x* + 18 x + 18]
Ansd=[a+b=-17,ab=72], , AnsS=[a=4,b=3,ab=12]

Ans6=[P(x)=x"+3x +2x"+9x—-1]

_]_[Q(x):2x3—2x2+2x} 2_[Q(x):2x2—2x+2} |
T R(x)=-2 o R(x)=-2
_ _ Q(X)=x} _[Q(x):x3—2x2+2x—10}
Ans7 = '3_[R(x)=2x—5 7= R(x)=32
5_[Q(X)=2x3+2x} 6_[Q(x)=x3+9}
. 7 L Rx)=2x-3 7L R(x)=32 i
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RealOl Answers for No.9717

Ansl =[a=3,b=2,c=3]

.1=[p(x)+q(x)=3x2—3x+5] .2=[p(x)—q(x)=—x2+3x+3]
Ans2 = .3:[q(x)—p(x):x2—3x—3] .4:[mp(x)—nq(x):—6x2+15x+11]
S=[p(x)q(x)=2x"-3x+9x" - 12x+4] G6=[[p(x)=x"+8x"+16]
Ans3=[p(x)q(x)=x"+2x"=2x =16 x" — 16 x — 24]
Ansd=[a+b=6,ab=-27], , AnsS5=[a=-1,b=5,ab=-5]

Ans6=[P(x)=x4—5x3+2x2—7x+2]

o[ammadeadoadar] ) Joweadised]
o R(x)=3 o R(x)=x+3

_ _ Q(x)=x} _{Q(x):x3+4x2+7x+14}
Ans7 = '3_[R(x)=6x—7 4= R(x) =26
5_[Q(X)=2x3+4x} 6_{Q(x)=x3+4}

i L R(x)=8x+3 7L R(x)=-10 ]
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Real0l Answers for No.9763

Ansl =[a=-2,b=-1,c=13]

d=[p(x)+q(x)=3x"+3x—-6] 2=[p(x)-q(x)=—x"—3x]
Ans2 = 3=[q(x)—p(x)=x"+3x] 4=[mp(x)-nq(x)=—4x"—9x+3]
S=[p(x)q(x)=2x"+3x-9x"-9x+9] 6=[[p(x)=x"-6x"+9]
Ans3=[p(x)q(x)=x’+3x - 13x' =15 -2x* +4x+6]
Ansd=[a+b=-4,ab=-45], , AnsS=[a=2,b=5,ab=10]

Ans6:[P(x):x4—6x3—x2+ 11x—-4]

]:[Q(X)=4x3_2x2+3x+1} 2:{Q(x):4x2_2x+3}
' R(x)=-2x+3 . R(x)=x2—2x+3
Ans7 = 3:|: Q(x) =x } .4:[Q(X)=x3+x2—6x+15}
R(x)=7x-5 R(x)=-28
5:[Q(X)=4x3—8)ﬂ 6:[Q(x)=x3+5}
L R(x)=16x-5 ' R(x)=0 |
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RealO0l Answers for No.9877

Ansl =[a=2,b=3,c=-1]
.1=[p(x)+q(x)=3x2—2x—2] .2=[p(x)—q(x)=—x2+2x]
Ans2 = 3=[q(x) = p(x)=x"—2x] 4 =[mp(x) - nq(x) =x"+4x—3]
S=[p(x)qx)=2x"-2x" =3 +2x+1] 6=[[p(x)P=x"-2x"+1]
Ans3=[p(x) q(x)=x"+6xX +4x" —6x —40x* — 48 x — 16]
Ansd=[a+b=2,ab=-8], , AnsS=[a=3,b=5,ab=15]
Ans6=[P(x)=x4+5x3—x2—2x+1]

_1_[Q(x)=x4+4x2+3x+2} 2_[ Q(x) =x }

T R(x)=1 o R(x):4x3+3x2+2x+1

_ _ Q(x)=x} _[Q(x)=x3+6x2+14x+38}
Ans7 = '3_[R(x)=3x—4 7= R(x)=116
5_[Q(X)=3x3—6x} 6_[Q(x):x3+2}

. LR(x)=12x+2 7L R(x)=-8 ]
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Real0l Answers for No.9911

Ansl =[a=3,b=1,c=2]

.1=[p(x)+q(x)=3x2+5x+2] .2=[p(x)—q(x)=—x2—5x+4]
Ans2 = 3=[q(x)—p(x)=x>+5x—4] 4=[mp(x)-nq(x)=—4x"—15x+9]
S=[p(x)q(x)=2x"+5+5x"+15x=3] 6=[[p(x)P=x"+6x"+9]

Ans3=[p(x)q(x)=x"—x' =26 +35x" +20x—30]
Ansd=[a+b=6,ab=-16], , AnsS5=[a=-4,b=5,ab=-20]
Ans6=[P(x)=x4—2x3—x2+5x+7]

_1_[Q(x):4x“_x3_3x2_3x} 2_[ Q(x)=4x-1 } |
T R(x)=-1 o R(x):—3x3—3x2—1
_ | Q)=x } _[Q(x)=x3+3x2+8x+20}
Ans7 = '3_[R(x)=—3x—5 4= R(x) = 38
5_[Q(x)=2x3+2x} 6_[Q(x)=x3+2}
L L R(x)=2x-3 7L R(x)=-4 |
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RealOl Answers for No.10027

Ansl=[a=2,b=-3,c=-4]

d=[p(x)+q(x)=5x"—4x-9] 2=[p(x)—q(x)==3x"+4x+1]
Ans2 = 3=[q(x)-p(x)=3x"—4x—1] 4=[mp(x)-nq(x)=-17x>+20x + 13]
S=[p(x)q(x)=4x"—4x -21°+16x +20] 6=[[p(x)]=x"-8x"+16]

Ans3=[p(x)q(x)=x"+x' =11 X + 14x" +12x-20]
Ans4d=[a+b=13,ab=36], , AnsS=[a=-7,b=1,ab=-7]
Ans6=[P(x)=x4+4x3+5x2+26x— 1]

_1_[Q(x):3x4+3x3+4x2+4x—1} 2_[ Q(x)=3x+3 }
T R(x)=-2 o R(x):4x3+4x2—x—2
_ | Qx)=x _Q(x):x3+4x2+l2x+27}
A7 = 7 _[R(x) =—4x+ J '4_[ R(x) =52
5_[Q(x)=3x3—3x} 6_[Q(x)=x3+3}
L L R(x)=3x-2 7L R(x)=-4 |
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RealOl Answers for No.10063

Ansl =[a=-3,b=-2,c=0]

.1=[p(x)+q(x)=5x2+2x—4] .2=[p(x)—q(x)=—3x2—2x+6]
Ans2 = 3=[q(x)-p(x)=3x"+2x-6] 4=[mp(x)-nq(x)=-13x>—8x+23]
S=[p(x)qx)=4x"+2x - +2x-5] G6=[[p(x)P=x"+2x"+1]

Ans3=[p(x)q(x)=x"+5x" =x +18x* =30 x + 10]
Ansd=[a+b=-9,ab=20], , AnsS5=[a=4,b=2,ab=28]
Ans6=[P(x)=x4—x3+7x2—2x—2]

—]_[Q(x)=4x4+2x2—2x+2} 2_[ Q(x)=4x }
T R(x)=0 o R(x):2x3—2x2+2x
_ | Qx)=x _Q(x):xS—x+6}
Ans7 = '3_[R(x)=5x—l} .4—[ R(x)=-14
5_[Q(x):2x3—4x} 6_[Q(x)=x3}
L L R(x)=8x-5 7 LR(x)=2 ]
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RealOl Answers for No.10367

Ansl =[a=-4,b=-2,c=-1]

.1=[p(x)+q(x)=5x2—2x+2] .2=[p(x)—q(x)=—3x2+2x—8]
Ans2 = 3=[q(x)-p(x)=3x"-2x+8] 4=[mp(x)-ng(x)=-8x"+6x—27]
S=[px)qx)=4x"-2x-7x"+6x-15] 6=[[p(x)P=x"-6x"+9]

Ans3=[p(x)q(x)=x—6x"+14x = 19x* + 12x-20]
Ansd=[a+b=T7,ab=6], , AnsS=[a=-1,b=3,ab=-3]
Ans6=[P(x)=x4—x3—5x2+8x+4]

_]_[Q(x)=3x4—x3+2x2—4x—4} 2_[ Q(x)=3x—1 }

T R(x)=3 o R(x):2x3—4x2—4x+3

_ | Qx)=x } _[Q(x)=x3+8x2+21x+64}
Ans7 = '3_[R(x)=—6x—1 4= R(x) = 189
5_[Q(x):4x3+8x} 6_[Q(x):x3+6}

L L R(x)=16x-3 7L R(x)=10 i
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RealOl Answers for No.10372

Ansl =[a=-3,b=1,c=4]

.1=[p(x)+q(x)=3x2+5x+4] .2=[p(x)—q(x)=—x2—5x+2]
Ans2 = 3=[q(x)-p(x)=x"+5x—-2] 4=[mp(x)-ng(x)=x"—10x+13]
S=[p(x)q(x)=2x"+5+7x+15x+3] 6=[[p(x)P=x"+6x"+9]

Ans3=[p(x)q(x)=x’+3xX —-6x'—6x +3x* = 15x+20]
Ansd=[a+b=5ab=-6], , AnsS=[a=-2,b=6,ab=-12]
Ans6=[P(x)=x"=5x+6x"-27x—2]

_]_[Q(x):4x3—x2—4x+l} 2_[ Qx)=4x-1 }

T R(x)=—4x+2 o R(x):—4x3+x2—4x+2

_ _ Q(x)=x} _[Q(x)=x3+3x2—3x+6}
A7 = '3_[R(x)=5x—4 4= R(x)=-13
5_[Q(x)=3x3+3x} 6_{Q(X)=x3+1}

L L R(x)=3x+2 7L R(x)=3 ]
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RealOl Answers for No.10375

Ansl =[la=-4,b=-4,c=12]

.1=[p(x)+q(x)=4x2—5x+2] .2=[p(x)—q(x)=—2x2+5x+4]
Ans2 = 3=[q(x)-p(x)=2x>-5x—4] 4=[mp(x)-nq(x)=—-13x>+25x + 11]
S=[p(x)q(x)=3x" -5 +8x"~ 15x 3] 6=[[p(x)=x"+6x"+9]
Ans3:[p(x)q(x):x6—7x5+9x4+9x3+3x2— 12x-9]
Ansd=[a+b=-15,ab=56], , AnsS=[a=-7,b=2,ab=-14]

Ans6=[P(x)=x"-7x -2x*+20x+7]

I:|:Q(X)=3x3_x2_4x+3:| 2:|:Q(x):3x2—x—4}
. R(x)=x+4 . R(x)=3x"+x+4
Ans7 = .3:[ Qx)=x } .4:[Q(x)=x3+5x2+14x+39}
R(x)=—6x— 1 R(x) =116
5:[Q(x)=3x3—9)1 6:[Q(x)=x3+3}
i R(x)=27x+5 27 R =-2 |
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RealOl Answers for No.10426

.1=[p(x)+q(x)=4x2+4x—4]
3=[q(x)-p(x)=2x"+4x-6]
S=[p(x)q(x)=3x"+4x —2x"+4x-5]

Ans2 =

Ansl =[a=2,b=-2,c=-1]
.2=[p(x)—q(x)=—2x2—4x+6]
4=[mp(x)-nq(x)=—4x"—12x+20]
G6=[[p(x)P=x"+2x"+1]

Ans3=[p(x)q(x)=x"—4x +x'+ 12X = 7x* =20 x +20]

Ans4d=[a+b=-6,ab=-16],

Ans7 =

[Page 0015]

IZ[Q(x)=x3+4x2—4} :{Q(X)=x2+4x}
' R(x)=4 R(x)=—-4x"+4
3:|: Q(x)=x } 4:|:Q(x)=x3—x2+6x—12}
’ R(x)=6x-6 ' R(x)=25
5:[Q(x)=3x3—3x} 6:[Q(x)=x3+4}
R(x)=3x+2 R(x)=-6 i

, AnsS=[a=-6,b=5,ab=-30]
Ans6=[P(x)=x4—x3—3x2+7x—7]
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RealOl Answers for No.10628

Ansl =[a=0,b=-1,c=2]

d=[p(x)+qx)=4x"-3x-2] 2=[p(x)—q(x)=—2x"+3x—-6]
Ans2 = 3=[q(x)—p(x)=2x"-3x+6] 4=[mp(x)—nq(x)=-12x"+15x-22]
S=[p(x)q(x)=3x"-3x"-10x*+12x—8] G6=[[p(x)=x"-8x"+16]

Ans3=[p(x)q(x)=x"+11x*+25x =36 x* =30 x +30]
Ansd=[a+b=2,ab=-15], , AnsS5=[a=-3,b=6,ab=-18]
Ans6=[P(x)=x"=2x"+6x"-9x+1]

I:[Q(X)=4x4—2x3—x—4} 2:{Q(x)=4x2—2x}
. R(x)=0 . R(x)=—x2—4x
Ans7 = .3:[ Qx)=x } '4:[Q(x)=x3+7x2+12x+22}
R(x)=—6x+2 R(x) =48
5::PQ(X):”4X3+-8X} 6::PQ(X):;€}
L R(x)=16x-5 ' R(x)=-5 ]
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RealOl Answers for No.11408

Ansl =[a=-3,b=4,c=0]

.1=[p(x)+q(x)=5x2+3x+5] .2=[p(x)—q(x)=—3x2—3x+3]
Ans2 = 3=[q(x)-p(x)=3x"+3x—-3] 4=[mp(x)-nq(x)=-8x"—9x+13]
S=p(x)q(x)=4x"+3x"+17x° + 12x + 4] 6=[[p(x)=x"+8x"+16]

Ans3=[p(x)q(x)=x*-3x+ 12X = 11x* = 15x+20]
Ansd=[a+b=8,ab=12], , AnsS=[a=5,b=6,ab=30]

Ans6=[P(x)=x4+3x3+x2+5x—5]

_I::[Q(x):”4x4_x3+x24-3x} 2:{CKX)::4X2—xp+1} -
' R(x)=-1 7L R =341
Ans7 = 3:[ Qx) =x } 4:[Q(x)=x3+3x2+10x+20}
’ R(x)=2x+2 ' R(x) =39
5_[Q(x)=2x3+4x} 6_{Q(X)=x3+6}
L L R(x)=8x+3 L R(x)=4 |

DG NI ISRV ON A D 19:9:0:0:0:0.0:0.0.9.0.0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0.0:0.0.0.9.0.0.0.0.0.0.0.0.0.9.0.9.9.9.9.9.9.9.9.9.9.9.9.9.9.9.9.9.0.0:0:0:0:9:9:9.9.0:0.0:0:0:0:9:9.9.9.9.9.9.9.9.9.9.9.9.9.9.9.9.9.0.4



D ERVERHNCIVISENED 0.9:0:0.0:0:0.0.0:0.0.0:0.0.0:0.0.:0:0.0.0:0.0.:0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.9:0.0.0:0.0 ¢ WA TN T N O NN IC LT O N T O N =D 0.6
RealOl Answers for No.11560

Ansl =[a=0,b=1,c=2]
.1=[p(x)+q(x)=5x2—3x+6] .2=[p(x)—q(x)=—3x2+3x—4]
3=[q(x)-p(x)=3x"-3x+4] 4=[mp(x)-nq(x)=—8x" +9x—11]

S=[p(x)qx)=4x"-3x+9x"-3x+5] G6=[[p(x)P=x"+2x"+1]
Ans3:[p(x)q(x):x6—6x5+5x4—2x3+7x2+20x—25]
Ansd=[a+b=4,ab=-32], , AnsS5=[a=-5,b=6,ab=-30]
Ans6=[P(x)=x"—4x +2x* -3 x+3]

Ans2 =

_]_{Q(x)=3x3+x2+4x} 2_|:Q(x)=3x2+x+4} -
T R(x)=4x-3 L R(x)=4x-3

_ | Q) =x } _[Q(x):x3+8x2+20x+64}
A7 = '3_[R(x)=7x—3 4= R(x) =191
5_[Q(x)=2x3—291 6_[Q(X)=x3+3}

. 7 LR(x)=2x-3 "L R(x)=-9 ]

X [Page 0018]
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RealOl Answers for No.11806

X

[Page = 0019]

Ansl=[a=5b=-2,c=-4]

.]=[p(x)+q(x)=3x2+3x] .2=[p(x)—q(x)=—x2—3x+6]
Ans2 = 3=[q(x)=p(x)=x"+3x-6] 4 =[mp(x) - nq(x)=-3x" - 12x+27]
S=[p(x)q(x)=2x"+3x+3x°+9x-9] 6=[[p(x)=x"+6x"+9]

Ans3=[p(x) q(x)=x"+3xX +4x =2x - 10x* =20 x - 16]
Ans4d=[a+b=-10,ab=21], , AnsS=[a=-3,b=4,ab=-12]
Ans6=[P(x)=x"—5x =3x"+20x+2]

_]:[Q(x):3x4+x3+4x2—x} 2:[ Q(x)=3x+1 }
' R(x)=-4 ' R(x)=4x-x"—4
_ | Q) =x _Q(x):x3+3x2+6x+16}
Ans7= '3_[R(x)=6x+5} ’4_[ R(x) =34
5_[Q(X)=2x3—6x} 6_[Q(X)=x3+7}
L " LR(x)=18x+5 7L R(x)=26 ]
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RealOl Answers for No.12219

Ansl =[a=-1,b=-4,c=2]

I=[p(x)+qx)=4x"-5x—-1] 2=[p(x)-q(x)=—2x"+5x+7]
Ans2 = 3=[q(x)-p(x)=2x"-5x-7] 4 =[mp(x) - nq(x) =—5x* + 15 x +24]
S=[px)q(x)=3x"=5x+5x" - 15x—12] 6=[[p(x)=x"+6x"+9]

Ans3=[p(x) q(x)=x"-27x —8x" = 10x — 4]
Ansd=[a+b=-2,ab=-24], , AnsS=[a=6,b=5,ab=30]
Ans6=[P(x)=x4+2x3—5x2—7x—5]

IZ[Q(X)=4x4+3x3+4x2—2x} 2:[Q(x):4x2+3x+4}
' R(x) = -4 ' R(x)=—2x"-4
Ans7 = .3:[ Q(x)=x } '4:[Q(x)=x3—2x2+2x—10}
R(x)=-6x+4 R(x) =29
5:[Q(X)=3x3—3x} 6:[Q(x)=x3+3}
i R(x)=3x-2 ' R(x)=0 i
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RealOl Answers for No.12809

Ansl =[a=1,b=0,c=1]
-1=[p(x)+q(X)=3x2—3x—3] .2=[p(x)—q(x)=—x2+3x—7]
Ans2 = 3=[q(x)—p(x)=x"-3x+7] 4=[mp(x)—nq(x)=—x"+6x—19]
S=[p(x)qx)=2x"-3x" -8x*+15x-10]  .6=[[p(x)]’=x"~10x"+25]
Ans3=[p(x) q(x)=x"+3x +x —19x =42 x — 24]
Ans4d=[a+b=-10,ab=24], , AnsS=[a=-5,b=4,ab=-20]
Ans6=[P(x)=x"+4x —2x"-5x-2]
_]:[Q(x):x4+2x—3} 2:[ Q()c):x2 } ]
' R(x)=-4 T R(x)=2x"-3x-4
Ans7 = .3:[ Q(x) =x } '4:[Q(x):x3+7x2+20x+63}

R(x)=-7x+1 R(x)=185
5_[Q(x)=3x3+3)1 6_[Q(X)=x3+4}
L7 L R(x)=3x+5 7L R(x)=-8 |
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RealOl Answers for No.12954

Ansl =[a=-1,b=4,c=-3]
.2=[p(x)—q(x)=—2x2+x+ 1]
4=[mp(x)-nq(x)=-T7x"+3x+7]

G=[[p(x)=x"-8x"+16]
Ans3 =[p(x) q(x):x(’—xs— 17x'+12xX° +3x° - I15x+9]

A= [p(x)+q(x)=4x2—x—9]

Ans2 = .3:[q(x)—p(x)=2x2—x—1]

S=[p(x)qx)=3x"—x = 17x" +4x+20]

Ansd=[a+b=4,ab=3],

, AnsS5=[a=-1,b=T7,ab=-T7]

Ans6=[P(x)=x"—7x =5 +41x+1]

=x' -2 43 +x+2
R(x)=2

3:[ Q(x)=x }

' R(x)=-2x-4

5_[Q(x)=3x3—9x}
LR(x)=27x+2

¥ :[Q(x)

Ans7 =

[Page 0022]
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[Q(x):x2—2x+3}
R(x)=x2+2x+2
Q(x)=x3+5x2+9x+18

R(x)=35
6_[Q<x>=x3 - 1}
L R(x)=8

|
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RealOl Answers for No.12964

Ansl =[a=3,b=3,c=-1]
.1=[p(x)+q(x)=5x2—5x+3] .2=[p(x)—q(x)=—3x2+5x—7]
Ans2 = .3:[q(x)—p(x):3x2—5x+7] 4 =[mp(x)—nq(x)=-3 24 10x-20]
S=[p(x)q(x)=4x"-5x"-3x"+10x-10] 6=[[p(x)P=x'-4x"+4]

Ans3=[p(x) q(x)=x"+3x + 18 x —40x* — 12 x + 24]
Ansd=[a+b=-6,ab=8], , AnsS=[a=3,b=1,ab=3]
Ans6=[P(x)=x"+3x -6x" - 12x—1]

_]_[Q(x)=5x4_3x3+x2_2x:| 2_|: Q(x)=5x-3 }
o R(x)=-2 o R(x)=x3—2x2—2
_ _ Q(x)zx} _[Q(x)=x3—2x2+3x—5}
Ans7 = ’3_[R(x)=6x—4 4= R(x)= 14
5_[Q(x):3x3+6x} 6_[Q(x):x3+3}
i LR(x)=12x+2 7L R(x)=-3 ]
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RealOl Answers for No.12971

Ansl =[a=2,b=-2,c=3]

.1=[p(x)+q(x)=4x2—3x+6] .2=[p(x)—q(x)=—2x2+3x+2]
Ans2 = 3=[q(x)-p(x)=2x"-3x-2] 4=[mp(x)—nq(x)=-9x"+ 12 x+4]
S=[p(x)q(x)=3x"-3x"+14x° - 12x+8] 6=[[p(x)=x"+8x"+16]

Ans3=[p(x)q(x)=x*-2x - 11x"+ 12X +4x* +8x - 12]
Ansd=[a+b=2,ab=-48], , AnsS5=[a=-6,b=1,ab=-6]
Ans6=[P(x)=x'+6x -2x =T x+6]

—]:[Q(x):2x4+2x3+4x2+2x+3} 2:[Q(x):2x2+2x+4}_
' R(x)=0 ' R(x)=2x>+3x
_ - Q(x)=x} _[Q(x)=x3+x2—4x+8}
7 . ‘[R(x>=6x—3 =T Ry =20
5_[Q(x)=3x3+3x} 6_[Q(x)=x3}
L L R(x)=3x+2 7 LR(x)=4 |
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RealOl Answers for No.13023

Ansl =[a=3,b=3,c=0]

.]=[p(x)+q(x)=3x2+2x—2] .2=[p(x)—q(x)=—x2—2x]
Ans2 = 3=[q(x)-p(x)=x+2x] 4=[mp(x)-ng(x)=—x"—-6x—-2]
S=[p(x)qx)=2x"+2x=3x"-2x+1] G6=[[p(x)P=x"-2x"+1]

Ans3=[p(x)q(x)=x*—4x - 10x* + 16 x> + 28 x* = 16 x — 24]
Ansd=[a+b=-11,ab=24], , AnsS=[a=-3,b=2,ab=-6]
Ans6=[P(x)=x"=3x +6x" - 15x—-2]
_]:[Q(x)=2x3—3x2—2} 2_{Q(x):2x2—3x} |
' R(x)=-2x . R(x)=—2x2—2x
s — .3:[ Q(x)=x } '4:[Q(x):x3+6x2+l6x+52}

R(x)=2x-1 R(x) =155
5_[Q(x)=2x3—4x} 6_[Q(x)=x3+7}
L 7 L R(x)=8x-5 77l R(x)=24 |
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RealOl Answers for No.13033

X
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Ansl =[a=3,b=-2,c=2]
.]=[p(x)+q(x)=3x2+3x+3] .2=[p(x)—q(x)=—x2—3x—5]
3=[q(x)—p(x)=x"+3x+5] 4=[mp(x)-nq(x)=—x"—6x—11]

S=[p(x)qx)=2x"+3x+2x"-3x—4] G6=[[p(x)P=x"-2x"+1]
Ans3=[p(x)q(x)=x’+2x - 2x*'+3 X + 11X +4x—-10]
Ansd=[a+b=8,ab=12], , AnsS=[a=-4,b=T,ab=-28]
Ans6=[P(x)=x"—x —6x*+10x +3]

Ans2 =

_I_[Q(x)=5x4+4x3+2x} _[Q(x)=5x+4}
T R(x)=1 TIR(x)=2x"+1
_ | Q) =x } _[Q(x):x3+4x2+12x+38}
Ans7 = '3_[R(x)=—6x—7 4= R(x)= 112
5_[Q(x)=4x3—891 6_[Q(x)=x3+5}
L 7 LR(x)=16x+3 7L R(x)=0 |
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RealOl Answers for No.13061

Ansl =[a=5,b=-4,c=2]

.1=[p(x)+q(x)=3x2+3x—2] .2=[p(x)—q(x)=—x2—3x+8]
Ans2 = .3=[q(x)—p(x):x2+3x—8] .4:[rnp(x)—nq(x):—4x2—9x+21]
S=[p(x)qx)=2x"+3x+x* +9x—15] 6=[[p(x)=x"+6x"+9]

Ans3=[p(x)q(x)=x"—6x"+4x +22x" — 12 x - 24]
Ans4d=[a+b=13,ab=42], , AnsS=[a=5,b=6,ab=30]
Ans6=[P(x)=x"—7x =3x"+26x—7]

_]_[Q(x)=x3—3x2—x—2} 2_[ Q(x)=x-3 }_

o R(x)=3x+4 o R(x):—x3—2x2+3x+4

_ | Qx)=x } _[Q(x):x3+x2—6x+17}
Ans7 = 3 _[R(x) 51 4= R(x) = -54
5_[Q(X)=2x3+2x} 6_[Q(X)=x3+1}

. 7 L R(x)=2x+5 7L R(x)=3 ]
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RealOl Answers for No.13063

Ansl =[a=1,b=0,c=2]

.1=[p(x)+q(x)=5x2+2x—2] .2=[p(x)—q(x)=—3x2—2x—4]
Ans2 = 3=[q(x)-p(x)=3x"+2x+4] 4=[mp(x)-ng(x)=-7x"—6x— 18]
S=[px)qx)=4x"+2x - 11 x> —6x—-3] 6=[[p(x)P=x"-6x"+9]
Ans3=[p(x)q(x)=x"—4x"=7x + 16 x* =36 x +30]
Ansd=[a+b=-4,ab=-12], , AnsS=[a=4,b=T7,ab=28]

Ans6=[P(x)=x"—=x=3x*+8x-2]

_I_[Q(x):4x4—3x3+x+2} _[Q(x)=4x—3}
T R(x)=0 - R(x):x2+2x
_ _ Q(x)zx} _[Q(x)=x3+5x2+11x+19}
Ans7 = ’3_[R(x)=—x—2 = R(x) =41
5_[Q(x)=3x3—9x} 6_[Q(x):x3+l}
L " LR(x)=27x+2 L R(x)=4 |
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RealOl Answers for No.13064

Ansl =[a=3,b=-4,c=1]

.]=[p(x)+q(x)=5x2—x+3] .2=[p(x)—q(x)=—3x2+x+ 1]
Ans2 = ,3:[q(x)—p(x):3x2—x—l] .4:[mp(x)—nq(x):—11x2+4x+6]
S=[p(x)qx)=4x" —x +9x* - 2x+2] 6=[[p(x) =x"+4x"+4]

Ans3=[p(x)q(x)=x"—6x"+4x’ = 9x* - 14x+6]
Ansd=[a+b=-9,ab=8], , AnsS=[a=5,b=7,ab=35]
Ans6=[P(x)=x4+x3—7x2—4x+7]

]:[Q(x)=3x3—2x2+2x—1} 2:{Q(x):3x2—2x+2:|
’ R(x)=4x ’ R(x)=—x"+4x
AnsT = .3:[ Q(x)=x } '4:[Q(x)=x3+2x2—3x+13}
R(x)=5x-35 R(x) = -42
5:[Q(X)=2x3—6x} 6:[Q(x)=x3+4}
i R(x)=18x+5 ' R(x)=2 i
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RealOl Answers for No.13065

Ansl=[a=-3,b=-2,c=-4]

I=[p(x)+qx)=4x"+2x+2] 2=[p(x)-q(x)=—2x"-2x+4]
Ans2 = 3=[q(x)-p(x)=2x"+2x-4] 4=[mp(x) -nq(x)=—x"—4x+17]
S=[p(x)qx)=3x"+2x"+8x"+6x—3] 6=[[p(x)=x"+6x"+9]

Ans3=[p(x)q(x)=x"+3x' =21 x" —45x - 18]
Ansd=[a+b=T7,ab=10], , AnsS=[a=6,b=3,ab=18]
Ans6=[P(x)=x"+5x —4x"-17x-2]

—]:[Q(x):4x4—2x3+2x2+3x—2} 2:[Q(x)=4x2—2x+2}_

' R(x)=2 T R(x)=3x-2x+2

_ | Q) =x _Q(x):x3—2x+4}
A= .3_[R(x)=—4X—4} '4_[ R(x)=-15
5_[Q(x)=3x3—3)1 6_[Q(X)=x3+9}

L L R(x)=3x+4 7L R(x)=22 ]
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RealOl Answers for No.13197

Ansl =[a=0,b=-4,c=-4]

d=[p(x)+qx)=3x"-3x-3] 2=[p(x)—q(x)=—x"+3x+7]
Ans2 = 3=[q(x)—p(x)=x"=3x-7] 4=[mp(x)—nq(x)=-2x"+9x+23]
S=[p(x)qx)=2x"-3x —x"~6x-10] 6=[[p(x) =x"+4x"+4]

Ans3=[p(x) q(x)=x*—42x*+36 X’ —4x* =24 x + 24]
Ansd=[a+b=3,ab=2], , AnsS=[a=7,b=3,ab=21]
Ans6=[P(x)=x"+4x =3x*—8x+5]

_]_[Q(x)=3x3—x2+2x+4} 2_[ Qx)=3x-1 }

o R(x)=—x+3 o R(x)=2x3+4x2—x+3

_ _ Q(x)zx} _[Q(x)=x3—x2+5x—ll}
A= ’3_[R(x)=x—5 4= R(x) =34
5_[Q(x):3x3+3x} 6_{Q(x):x3+5}

i L R(x)=3x-4 7L R(x)=8 ]
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RealOl Answers for No.13907

Ansl =[a=0,b=-4,c=-3]

2=[p(x) - q(x)=-2x"—x]
4=[mp(x)-nq(x)=-9x"—4x—4]

A= [p(x)+q(x)=4x2+x+8]

Ans2 = 3=[q(x)-p(x)=2x"+x]

S=[p(x)q(x)=3x"+x + 16X +4x+16]

6=[[p(x)=x"+8x"

Ans3=[p(x)q(x)=x* -2 +4x" +4xX - 11X +22x - 12]

Ans4d=[a+b=2,ab=-15],

, AnsS=[a=-7,b=2,ab=-14]

Ans6=[P(x)=x"—4x-3x*+15x+7]

_]_[Q(x):x3—4x2+4x—l
T R(x)=-2x+3

Ans7 = Q(x)=x }

'3:[R(x)=x—5

5_[Q(x)=2x3—4x}
L R(x)=8x+5

[Page = 0032]
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_[Q(x):x2—4x+4}
- R(x)=—x2—2x+3
Q(x)=x3+5x2+8x+l3

R(x)=22
6:[Q(x) :ﬂ
R(x)=-5

+16]

|
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RealOl Answers for No.13975

Ansl =[a=2,b=0,c=0]

.]=[p(x)+q(x)=5x2+x— 1] .2=[p(x)—q(x)=—3x2—x+3]
Ans2 = .3:[q(x)—p(x):3x2+x—3] .4:[mp(x)—nq(x):—13x2—4x+11]
S=[p(x)qx)=4x"+x +2x7 +x-2] H=[[p(x)P=x"+2x"+1]
Ans3=[p(x)q(x)=x —x"=8x + 11 x* + 10x - 10]
Ansd=[a+b=3,ab=2], , AnsS=[a=-1,b=4,ab=-4]

Ans6=[P(x)=x"+5x +2x"+16x—5]

_1_[Q(x):4x3—x2+3x+2} 2_[ Q(x)=4x-1 }
T R(x)=4x-4 T R(x):3x3+2x2+4x—4
_ ~ Q(x)zx} _[Q(x)=x3+7x2+14x+27}
Aans7 = 7 _[R(x) =x—1 4= R(x) =50
5_[Q(x)=3x3—9x} 6_[Q(x):x3+l}
L L R(x)=27x-2 7L R(x)=2 ]
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RealOl Answers for No.13984

Ansl =[a=1,b=-1,c=4]

A= [p(x)+q(x)=4x2+x+6] 2= [p(x)—q(x)=—2x2—x—2]
Ans2 = 3=[q(x)—p(x)=2x"+x+2] 4=[mp(x)-nq(x)=-3x"-2x-2]
S=[p(x)qx)=3x"+x’ +10x° + 2 x + 8] 6=[[p(x) =x"+4x"+4]

Ans3=[p(x) q(x)=x"+6x"+9x° +28x" + 8 x— 8]
Ansd=[a+b=8,ab=15], , AnsS=[a=5,b=3,ab=15]
Ans6=[P(x)=x"-2x-4x*+10x+3]

_]_[Q(x)=2x3+4x2} 2_[Q(x):2x+4]

L R(x)=—2x-3 “R(x)=-2x-3

_ | Qx)=x _Q(x):x3_4}
Ans7 = '3_[R(x)=5x+l} .4—{ R(x) = 10

5_[Q(x):4x3—8x} 6_{Q(x):x3+7}

L7 LR(x)=16x+5 "L R(x)=16 | |
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RealOl Answers for No.13991

Ansl =[a=1,b=1,c=-1]

.1=[p(x)+q(x)=3x2—3x— 1] .2=[p(x)—q(x)=—x2+3x—3]
Ans2 = 3=[q(x)-p(x)=x"=3x+3] 4=[mp(x)-ng(x)=—6x"+15x—13]
S=[p(x)qx)=2x"-3x-3x"+6x-2] 6=[[p(x)P=x"—4x"+4]

Ans3=[p(x)q(x)=x"+x" —18x = 11x = 15x - 6]
Ansd=[a+b=-8,ab=-9], , AnsS=[a=6,b=1,ab=06]

Ans6=[P(x)=x"=5x +7x*-32x—4]
_]:[Q(x)=2x3—2x2+4} 2_{ Q(x):2x2—2x} |
' R(x)=2x+2 TR =4x"+2x+2
s — .3:[ Q(x)=x } '4:[Q(x):x3+5x2+14x+31}

R(x)=—2x+7 R(x)=63
5_[Q(x)=3x3—6x} 6_[Q(X)=x3+6}
L 7 LR(x)=12x+5 7L R(x)=17 ]
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RealOl Answers for No.14005

Ansl =[a=-4,b=-1,c=-2]
.1=[p(x)+q(x)=4x2+2x—7] .2=[p(x)—q(x)=—2x2—2x—3]

Ans2 = 3=[q(x)-p(x)=2x>+2x+3] 4=[mp(x)-nq(x)=-3x"—4x-11]
S=[px)q(x)=3x"+2x-17x*=10x+10] 6=[[p(x)P=x"-10x>+25]
Ans3=[p(x)q(x)=x"=3x"+8x =21 x*+21 x— 6]
Ansd=[a+b=4,ab=-5], , AnsS=[a=-4,b=1,ab=-4]

Ans6=[P(x)=x"'—4x" = 7x*+31x 7]
_1_[Q(X)=3x3—4x+3} 2_[ Q(x)=3x ]
o R(x)=-3x o R(X)=—4x3+3x2—3x
Ans7 = .3:[ Q(x)=x } '4:[Q(x):x3+2x2—4x+8}

R(x)=6x-6 R(x)=-15
5_[Q(x)=2x3+291 6_[Q(X)=x3+2}
L 7 L R(x)=2x-5 7L R(x)=-8 ]
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RealOl Answers for No.10120

Ansl =[a=2,b=1,c=0]

A= [p(X)+q(x)=4x2+x] 2= [p(x)—q(x)=—2x2—x+4]
Ans2 = 3=[q(x)—p(x)=2x"+x—4] 4=[mp(x)—nq(x)=-9x>—4x+14]
S=[p(x)qx)=3x" +x’ +4x" +2x-4] 6=[[p(x) =x"+4x"+4]

Ans3=[p(x)q(x)=x"-14x =13 x> = 6x—10]
Ansd=[a+b=6,ab=-27], , AnsS=[a=-4,b=5,ab=-20]

Ans6=[P(x)=x"+x —4x>+x+6]

_]_[Q(x)zsxét_xs_ﬂ 2_[Q(x):3x—l}
o R(x)=1 “TIR(x)=—4x+1
.| Q)=x ~ Q(x):x3+2x2—5x+14}
Ans7 = '3_[R(x)=—2x+l} '4_[ R(x)=-41
5_[Q(x):4x3+8x} 6_[Q(x):x3+2}
L 7 LR(x)=16x-3 7L R(x)=0 ]
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